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(3) . ,‘i['x:%lﬁ, 492° — T+ |

20 o1 1 .29 137
Z—49><16 7><4+4—16'§
B 3 T BE AR T 7 B JE K
., 137 |
jﬂﬁ.

(RBIAHEESET EXME
tEH, DRRHEXKE BE
EREMENRRAMM L.,

TR 20 50y, KKITE
M58 b, RIGERE, 5 x+2y=

ar =2y W y=-a. W 1P

B R 2(b—2y +a) =
2b—4dy+2a, K 2 HEAEIH
JAK R 20 +2(a —x) +2y =20+
6y. WK 1 s EK S
B2 v B 52 A 0 0 R Y 22 02
20—4y+2a—2b—6y=2a —10y =
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2a —éa = —la.

2 2

RS

1.

CTIES EX XSG EPE

B VARF K 2K
F 3% U 2 A AR ok B

Tl m
1. B

WYL

LR AT 1A 2 R DRI

ﬁmﬁﬁ%%ﬁﬁx\ﬁﬁy’ﬁé
Sl L PO NS T

FIKH 2 (x+a—y+CD)s bis

HOM/N KA KR 2(CD +
. kSN OMOM/NTTIE
MAKZEN 2 +a—y+
CD)~ 2(CD+ y) = 4o — 2y +
20D 20D 2y =4z —dy=4(z—
) =4BC. WTFHETMLB BC W

K. ik B,

-ﬁ:ﬂ>ﬁﬁﬁ%%@ﬁﬁﬂ%ﬁg

2n+3) =4m+4n+6,

¢Kﬁ%%%&ﬁmm+m:§

2m+2n,

I 7 19 R K LN KT
JAK K (dm +4n +6) — (2m +
2n) =dm +4n+6 —2m—2n=2m+

2n+6.

(2) WA EE N 2m +
@n+&wn+m+n+@m—m>+§
2n+3) =2m+2n+3—n+m+

nt2m—m-+2n+3=4m+4n+6.
(3) ¥ m=2, n=1H8t,

@%aﬁﬁ@%ﬁﬁ4m+M+ﬁ:§

AX2+4 X1 +6=8+44+6=18.

3

O [BEBHRIEOQOO@MAETT
WK M as by oy ds B
i ©5HE O EKZ
Rl mMEE, H2(atb—d+
d)—2(b—a+a) =1 %M, 15
2a=1. WEHM [ BE, N7
SLREFIIE E T TE O K.

. W EFR.

A | B

C|D

E
Hohbr 8 AL B, C. DI
ANNRTTTERIEFTTE »

frLL A B 1y K A%, C F1 D
(1) JE AR 55

WA MEKR da,

M A, BRLKHa.

W C KR 40,

M C. Dk Aob.

W E —4ihkKNo, & EMS
— kMK N,

M) E WA 26 +2c.

MK 7 T (K F 58 43 3 a +
a+b+b=2a+2b, a+b+c.

MK KT FLR 2(a +b) (a+
b+e).

Ma, b, c ERNCHBET, —ERE
A ARKITIEWIEA. 8 n B
/MBS 3.

(D x+1 22+1 (EZERMHE—)




(2) f#: MEE, 4 AF=AE= |

fifA EK = (32 +1) —1=3x.
K% DM=EK,
fLL 22 +1=3x.

it x=1.

JFLL = BE R 1.

(3) fi#: Wl =1,

Bl AD = (3 +1) +32 =6 +

1=6X1+1=7,

AB=3x +1) tax=4x+1=4 X

1+1=5.
Btk K B % ABCD 1y T
AB + AD=5 X7 =35,

ZEEE

(1) 11lem 23 cm

23 (cm).

(2) fE: WAbRSA 1,
WRhE MM 2. v,
Jir AR5 3 W IEJT I i K2
Ty,

x+2y,

2y) +ty=x+3y,

bRl 6 M9 TE T T ﬁE<x+§

3y) +(y—x) =4y,
b 7B IE T IE MK E

im@ (1) 2 24

2%Eﬁ§

B 4 I K

RS0 5 ETRI KR (ot

4y —x.
WFR5 R 10 W IE T B B9 K &
(4y—x) —x—(x+y) =3y —3a.

ORI BTG
[ MR8 =

M. ANg=6+3=2, % 4 T
12 X2 =24,

(2) a, g !

(3) fi#:. MBI, 56 10N
10+2=5, % 4 Tk 5 X 2° =40.
[E#IAAETEZETHFHNE
oAl . FEAR VAR F B
FIHy € 3L, WLEH T R AL
T SRR K

s
CTOTT St

BT, ERE R 3 T
ﬁﬁﬁ5+&ﬂlﬁm%1ﬁ%ﬁ5é
HTE 7 TG K 6+ 11 +6 —

(1) EBE: FH m A 5T
IR

FTLL m=n® =nXn (n R IEHED.
KA [n—n| =0,

FrRA n Xn J&m WA
Fr IS B — A2 28 m

BA Fon) =—=

(2) f#. WAH ¢ B LR EC
ST o VAN N=OR S ER G NI ¢
it

M ¢ =10y +a.

o ¢ g2 “ AR

Lt —t =10y +2) — (10x +
y) =9(y—x) =36

JITLA y=a +4.



UmsEs

Bl—

IREL

H1<r<y<9, .y HH

Tl x=1, y=5; x=2, y=6;

x=3, y=7; x=4, y=8; x=295,

y=9.

37. 48, 59.

PR %R

=

IS8

iE BA: i A

BHABHAT G “#HERC 15, 26,

BEHem5iIE ©@D tH Hs

BEA 2 AN BT
JGAX A JUART A4 T 55 19 70N 37 05 B 1)
ANBCR 5+2=T7. % B.
[RHRIAAMEELET F4A M=
MEEBRERMIFZAED.
FlEf bR T M E AL
R

BRI

B cbabe = | L

10 000c +1 0006 +100a +106 +¢ =

10 001c¢+1 0106 +100a.
K~ a+c=b,

FF L) chabe =10 001¢ + 1 0106 +
100a =11 011c +1 110a = 370 X |
(4c+3a) +9 531c =370 X (d¢c +

3a) +1 059¢ X9.
I e +3a fEBL 9 HEBR

FiFLA 370 X (4c +3a) +1 059¢ X 9

WREDE 9 Bk

LU B — A “M S0 #BEd 9

HEBR.

FMNE BEEHONSINR

91U rkEDE

B

EW:

G20 BPNE T

@E@,ﬁmﬁw%ﬁﬁﬁmjé
FrHUAECR 5. HNET AR

P AN 75 1 & 3 A4 R 1 AT

26

. N Lm A 2 AR 5 A
RIRZEA 5 A/NETTA.

Fh AT T R 2 1 A 31 4 4L R R A
FHEA 3 A/NETTIR,
B=J2A 1 AVNMETTE,
LKA 5 +3 +1=
9 AN/INIETT A AL

. (D ZEALEIR EFR.
FEANIE—)

(&

=

|
(2) n ATRERYME N 8. 9. 10, 11
. (D HEAS 1 R/NEFE
Ak 1,
552 J2/NEIRIAECK 3, HER
1EZ 2
55 3 J2/NEFRIAECK 6, LA
222 314
Bl dE— 2t b —J2/NE ik £
MANEURIRH 2, 3, 4, 5, -




AEE%

WO 5 JR/NETT R A B 1+

2+3+4+5=15.

(2) AR A N IE Ty R bR

H 1,

M@¢¢Eﬁ%%ﬁﬁﬁ1xg

1=1.

3+ +20) X1=1 260,
(RRIAAEEZEXETHEVNA

iy ALAE.

TRl =

1.

() 10
2)1 2 3

HOZR R R AR 6 X (1 +2+

B 2 R Ay (28 +28 —
4) X1=52 (cm?).

(3) % (2) A BE, B ah
KIAGTE K, A4—1D 4
MNEF R ER,

Wi T A5 8 L] AR B 2% T RR S
[28n—4(n — 1)] X1 = (24n +
4)(em?).

BI= B IBHIHERA. 156
Ya BB EH Y E AL ER
BV K. AT BHRALF

(3) . WAL FihmEs

— A 32 N/NIEFHIE.
BHA/NEF TS 10 X10 =
100 (em?).

XS 4 5 o MHRE, 55 v A
Kk1+6=4+2=5+y, LA
=3, y=2. W —2¥=—3" =
—9.
[FRIA AT EEET EF KM
BITHE., EREF KW ZEEEL
Fem, MAEE NF, AF TR
AT BTG G 6 B ] AL

- BRIG=

L2

WA JLAT B O T L 32

100=3 200 (cm?®).
%
1 cm,
Fie LL1 A /N GE J7 B T AR
1 em?.

il = TR A 1 R mAR

(1) BAANET IR Ky

2X6+3+®#22ﬂ84ﬂ@§ﬁ%?

MY AR
Bl 28 X1=28 (cm?).

(@) WAL AT R

2, AANNMETLEE,

(AR A E A, 15 a
Xt, 55 b MXE, 35 ¢ AHXF, N
l1+a=5+b=3+c. X 54
Bormlh 1. 20 3. 4. 5. 6, FF
Pha=6, b=2, c=A4.

B BREIETT R RIT AT, ¢

125 JEXTTHT, 4 1o ZXITH . 8
a XTI,

PR A A X6 18 A T B B PR S B
Fik 10,

Bk ¢ +25 =10, 4+b6=10, 8+
a =10,

iR a=2, b=6, c=—15.
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Blm 73

TR N2 M
1. 72

. (D19
ATt S T LA SK W TS JLAT 1
BERL— A JERE B KK T i, BF
PSS FREVE T YN S
BAECh 463 =36, FEE. 13
G ATBIRUE N CYN SR Y
ANEH T, U ERE ST

Wa+b—2c=2+6—2xX(—15) = |

8 +30=38.

.

AN AR AR B R B

Flh 12 X6 X1 X1="72.

U AT, 5
(3+2) X5=25 (4 /NEFIE,
. FEAE (SR, R
FHE M) 4 X5 -2X2-3=13
) NTE 7K, Z2. A
(LR, R, b FHESZ
()5 X5 —2—4—3—2=14 (f)
ANEJT PR, W R R N E
PRAT 125 — (25 +13 +14) =73

COETETSTS S I TS
%.iﬁﬁﬁﬁﬁ%¢£ﬁ%%§

G20 IR AL Pl P
AMEZE T R AN T 4
ANEF TG, WAT 1ANES
o WA /N E 042
J9Ha—1=12 4 XKREFK
BBy 3. AN ETIE I
Ko 1 BOHE R LR R

36 —17 =19 /N H 1.
(2) f#. KRBT LR A0 221
4R E .

|
IR B 22 A AR Z
Tab X2 =14ab,

b FEBZAN 9a* X2 =184,
Hi. J5 m O Z M 10ab X
2 =20ab.

WOZ LA AR () 2 T ALl 14ab +
20ab+18a* =34ab+18a*.

(3) NI T & R K 7 A By 3 1R ]
2 AW, ESE R L AT #b
FE12-3=9 41 M EHHKRK
TR E 3L 9 AT, T
A UG SE4b 58 9 — 1 =8 /N5
MATHA R T IR ZE L 1A 3L 12
AN, A B LT AT 2R A
12—5=7 M.

RS T LR R R T Ay 2 <
(9ab+7ab+8a*) =16a* +32ab.

CARAR T F 28 L S
: U LB DAY LT R i L

LBEAS/NIE T E B R al A
Ze AT B .




HHEER

. f&.

2 W AR, RIEREAE 5

A/INETTE.

HEMETE, ERRLH2

AN IE 5 A
Jr k.

BEA 4 ANE

B 235 5 A AT R e b B 5+

2=TA/PNETTR, Bla=7.

FETH 5 +4=9 A /NE k.

B 6 =9.
W a+b=7+9=16.

AL LR E B,

EX VN 1AL B

(1 ZILRTIK AL B

(2> HAN JL Al A i = 90 P T

FAEPHEFRN 6 X1 X1 =6,
e BT AL N 6 X1 X1 =6,
IR E BT AR SR 6 X1 X 1 =6.

ﬁﬁﬁ@%%%@ﬁﬁ(ww+é

6) X2+2=38.

(3) hIE Iy Pk T T I A5
A Al |
“a” 1 d” SR

““ b”

“ 9
C

57 M .
5 “e” SRR,

O d REK R UG
B e T IR TARL, B,

Fo N TR AT B R
bk d=—1, e=1, f=15.
SCPR DA 7N TE J7 PR AR B 1L A %

29

HONAH R
il a=1, b=—15, ¢=—1.
BFUA 4 g b =11
al o] e

1=—1.

MR 1 ] LAROE 9 S/
ETER
92 F B 2 nl LIGE 8 AN/hIE
Ty

%3 ¥zl LIk 3 N/NIE
T

%A 2 A LUE 5 N/ IE
LS

%5 i 2 nl LIk E 2 N/NIE
k.

W Z A IGE 9 +8 +3+5+2=
27 A/INEJTIR.

. fE. (D
BE S 4 F 5 n &5
3/ANERE
. 8 A~ 8 v
#9 IE 75 AR AN EL
2 ANk E 12(n—2)
24 Mv
79 IE 7 AR AN 2K A
1 Ahake 6(n—2)°
24 Mv
79 IE 75 AR AN 2K A
BAEHREA o A (n—2)%
|
& 89 7 IR A A

(2) Y4 n=7Hnt,
6(n—2)"=6X(7—2)" =150,
FrLBdR 7 S50 aE, 1 AN g
/NETTA 150 4.



UmsEs

BEHem5iIE ©@D tH Hs

ZEEHE

(D EFEWMTF.

MEH | '@ ke
% @ik
V) (F) (E)
v & AR 4 4 6
AN 8 6 12
JE N\ AR 6 8 12
EF=
20 12 30
2R
V+F—E=2
(2) ﬁg: Hﬂﬂﬂjﬁ\f%‘:a /%B‘V:FJFS’
E=30.

AV +F-E=2,

B F+8+F—30=2,

0 F=12.

ﬁ& /\zﬁﬁiﬁﬁﬁéﬁzm 12.

IRVEIERS

Bl— fE. W MB: BC: CN=2:

3+ 4,

4 3x cm, CN A 4x cm.
N MN A& 92 cm.

KA P22k Br MN B 5,
1

BTLL PN = 2]\/[N— ZICD’I
M PC—PN—CN =3 —dr—
%x (cm).

TR MB Jy 22 em. Ml BC

Y PC=2 cm,
FJTL‘,{%I:Z. s =,

FIFLL 9 =9 X4 =36.

BT A MN =36 cm.

5?&“1%@}%%&&* EE A,
B B MR Itk

f‘ Wl E, FixmpLEm, i

FIF 77 12 BB Fn 50 45 & B A Bt

AT KA.

BRIG—
LD ORARIE B AB

kM, AB=12 cm, il AM =
BM=6 cm. % MC =x cm, N
CB=2z em. B MC + CB =
BM=6cm, Bl x+2x=6. f#5
=2, Bl MC =2 cm. W] AC =
AM+MC =6 +2 =8 (ecm). #X
¥ D.

. R WEBLAB. BC. CD 7054

4x cm, Sx em, 7x cm,

KN CD=7x=14,

Jir DL e =2.

(D A AB=4x=8,
BC=5x=10,

Tl AD = AB +BC +CD =8 +
10+14=32 (cm).

KA E LB AD 199 5.,
7 1 ED:%AD:% % 32 =



9
A
Wy
M

1=

Tl EC=ED —CD =16 — 14 =

2 (cm).

(2) # (1) &, BC =10 cm. |

EC=2 cm,

FfL BE=BC —EC =10 —2 =

8 (cm).

N HH AB=8 cm,

fffLl AB : BE=8 : 8=1.

. (1) HH M, N/\”'ij
AC, BC s,

F L MC:%AC, NCZ%BC.

X AB=m, BC=n,
Bl AC=AB—BC=m—n.

(m—n).

L MC:%AC:%

K~ m=8, n=2,

3
gn.
n
CN_2 _1
FJMMN 3n 3
2

0=%79 EX- & i N b-§: P iy

B R & B R B, A A
LB, ZXTHFENE. K

MAKELEE B H—E%EE
FLE W R Ok, m%%%&
W AR N R R A S

MN=MC +CN :gAC +§BC =

ﬁ

1
gAB.

TR

LB

BRI MC =L (m—m) =5 X (8=

2) =3,

n—%XZ 1.

FTLL MN =MC-+CN =3+1=4.

NC—*BC—

(2) % M. N 4515 AC. BC |
s, AB=m,BC=n, m=3n,

FF L MC:%AC:%(AB—BC) -

1

g(m—n) =n,

N n
CN ZBC 9

ir LA MN:MC+CN:n+§ —

.11

[ R B R4 B AC |
— . M EZ B AB . N
LB AC S, P JRZEL NA
i, Q BB AM 1y A,

AT LA PQZAP*AQZgAN*

1
2AM

YN

_1 _
=5 (AN — AM) 2

L MN ¢ PQ= N=%MN:2.
ik B

(YL ABIK R
x cm, B CD KAy cm.
N MJZE AB E"Jﬁf“'f N & CD #)

H FJTU\MB— CN =

X CIn,

2

%ycm. X MN =7 ecm, BC =
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=

1

3om, B ga+gy+3=7, B

aty=8 W AD=AB+CD +

BC=x+y+3=8+3=11 (cm).
(1 5

[Ny AB =10, L C

MHEER 2 E B R, (R E
BAE. ERTARSEMALSE,
FE R 1R &

- ER%E=

CEAB B, Bl AC=BC= |
5. XD, ESIEZLELAC, BC

[y L, BT LA DC:%AC:Z.S,

1

CE==BC=2.5. W DE=DC+

2
CE=2.5+2.5=5.

@) f: M CHIE R A
i, DE fREER R AL, Fh

wr .
wWACHEK N>, BCHK Ry,
) x+y=10.

P D, E 4314 B AC, BC

A

F L DCz%AC: 1

27

i DE:DC+CE:%x+

DO [ —

1 _1 _
o (x+y) =5 X 10 =5.

-

LAY ot h " RAEo L
PR B, EAETEHAME

%A

“B CH&BAB bth—

MohE” XA ImRER “EC
HHEAB By —Ash 87 K
CHEKAB L —A 3057w

[ IR K AR 55 AB =
12 ecm, ®WHERIARS N BC=10 cm,
i M. N 3525 AB, BC #y
&, ] BM=6 cm, BN =5 cm.
QK 1, 4 BC A5 AB HAR,
MN = BM + BN =6 + 5 =
11 (em); QWK 2, 2% BC 5AB
HAEKT, MN=BM—BN=6—5=
1 Cem). & BTk, BRAR LMY
RS Z A AR 2 1 em B 11 cm.

A M B N C
A1

AC MN B
A 2

. 6emms em  [RATIOWIA 1,

M5 BHELEBL AC i), % BC=
x cms W AB = 2x cm, AC =
3xem. A D B AC Wyrh

A BT LA AD:CD:%AC:

1.5z em. fFrll BD=AB —AD =
0.5x (em). XA A BD=1 cm,
FrLL 0.5 = 1. f#fd = =2. W
3x=6. il AC=6 cm. QUK
2, M BTELBAC MIEKZ I
B, % BC = x cm, N AB =



e
»
M

2xrcm, AC=AB—BC=x (cm).

EﬁﬁDﬁ%&AC%$ﬁ,%é

1
2

LI BD =CD +BC =1.5x (cm).
Nk BD=1cm, prll1.5x=1.
2

Ll AD=CD=—+AC=0. 5z cm. Jif

15 v == U\”JAsz cm. Zf [
3 :

3

%ﬁ,NXMShMmﬁ%am

4 DB C
A 1

A D C B
A 2

BIM fE. (1) X C. DRSS
M P, BIEIBEHAZLL T em/s,
2 cm/s W ENY Bk AB [ iz

gfj, t=1s,

Bl BD=2 cm, PC=1 cm.
] BD=2PC.

Kk PD=2AC,

Tl BD+PD=2(PC+AC),
Hl PB=2AP.

H% AB=12 cm, AB=AP +PB,

fFrbl 12=3AP, N AP=4 cm.

(2) WA C. D P P
BRI % Bk 1 em/s, 2 em/s )

WS L AB [ cia s,
itk BD=2PC.

K% PD=2AC,

fifh BD+PD=2(PC+AC),

HI PB=2AP.
BRLL P fES B AB 194 4

(FEiT A £0.
Al AB=12 cm,

FFL AP:%AB — 4 em,

(3) OYi QHELE AB LA,
A 1.
A P 0] B
A1
K AQ—BQ=PQ,
il AQ=PQ+BQ.
NHH AQ=AP+PQ,
fiF Lk AP =BQ.
i (2 Hl, AP=4 cm,
Al BQ=AP =4 cm.
fiTl PQ=AB—AP—BQ=4 (cm).
@Y 5 Q1 AB I IE K & | it
e 2.
A P B 0
A 2
KA AQ—AP =PQ,
AQ—BQ=PQ,
firl AP =BQ.
ffLh PQ=PB+BQ=PB+AP =
AB=12 cm.
i b ik, PQ KN 4 em B
12 em.
[FHIRAEELEH T H & E W
EH. REZHALBEWNA, £,
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GRS S Z TS ST S
B AR L |

T m

. WLkEr AB RBEIN A P BT

FL) 2 +8t=16. 5.

firl PD =20 — (8t +x) =20—
16.5=3. 5.

Zi bRk, PD KN 5 8 3. 5.

BAROIOD - BEHHE g

HMt,

W IEEt 5 C RonBIECh 16 —2¢,
D FoRmECh 20 —2¢,

RCA FORIECH —10+6¢,

M B RRECHh —8 +61,

$5 P FRIIHO = 61, |
JITLA BD =20 —2t — (=8 +61) =
28 —81, |
AP=z+6:—(—10+60) =10+,
PC=[16—2t—(x+60) | =[16—
8t—x|
PD=20 2t —(x+66) =208 — |
=20~ (8¢ +), |
% BD—AP=3PC, :
FFLL 28 — 8¢ — (10 +2) =3[16—
8t—x| |
Pl 18 —8t—x=3[16 —8 —x].
D4 C e P AT |
18—8¢—2=3(16—8 —2) =48 —
24t —3x, |
M & +8t=15. :
B PD =20 — (8t +a) =20—
15=5. |
@2 C {5 P MR :
18-8t —x=—3(16 8t —x) =
— 48424743, :

1B

[ YA MC : CN=5: 4,
L MC =52 cm, CN =4x cm.
M MN =MC +CN =5z +4x =

9r (em). P HA P & MN [
H. L PN:%MN:%xcm.

frk PC = PN —CN, H 2 =

%xﬂh.%%xzéfWJMN:

9X4=36 (cm), L B.

. 208080  [ETIONA C1EAB
AUSECER A anf&l 1 s,
4 P B O ¢
A1

WA P I Bt AB BYH . A
Q2L B BC Wy . AB=100,

BC=60, FfL PB:%AB:E)O,
QB:%BC:BO. FiLl PQ=PB +

QB =50 +30 =80.
@Y CHELBLAB LR, A 2
7.

4 CcP QO B
i 2
WA P Ik Bt AB B s,



QLB BC i, AB =100,

BC=60, FiLJ PB:%

1

QB=-BC=30. LA PQ:PB*E

2

QB=50—30=20. % Lk, PQ

A1 A 20 Bl 80.

KN B B CD () =%5r 5

GEE A O,

JiF LA BD=2BC =2k.

K-k AC=BD,

ik AC=2k, AB=CD=3k.

N M. N 481k AB. CD 1y

EFI)\j_:_';’
3

LI BM:%ABzzk,

_pDN=lcp=3
CN=DN=CD="k.

2

il CM = BM —BC =Sk —k—

1
Z/z.

RDN:%IQ,

Lk 3CM =DN.

(2) (1) M, MN = CM +

S PR
CN=Zk+5h=2k.

K MN =20, HJ 2k=20,
FFLL B =10.
Y DM =BM+BD,

Fi L) DM:%/Q +2k:%/€ -

AB =50,

BBEWRE

10=35.

(L 10 6 [@HAIHEN (a+6)°

Hla—b+10 B HRE, Frld

(a+6)2+|a—b+10| =0. FrLh
a+6=0, a—0b+10=0. L
a=—6, b=4. FrLL A, BMWEFE
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